SCC Inc. Installation Instructions

Document No. DR-1100
September 26, 2023

DR Series

DR... Variable Frequency
Drives (VFD’s)

Product Description

DR... series VFDs precisely control the speed of an AC induction motor. They come pre-
programmed for each application to simplify installation.

Optional Accessories
In addition to the VFD, the following optional components may be ordered with the drive:

NEMA 1 Kit
Braking Resistor
Braking Unit
Line Reactor
Load Reactor

SCC Inc.



Installation Instructions DR Series
Document No. DR-1100

Table of Contents

Recommended INStallation TOOIS .....co.ueiiiiiieieeee ettt st st sb e s e s 3
Recommended Installation CoONSUMADIES .........ooiiiiiiiiiiie et 3
IMIOUNTING NOTES ..ceeeieei ettt ettt ettt e e e e ettt e e e e e s e e s b et eeeeee s st bbeeeeeeeeesanssraaaeaseessannsenaaaeessanan 3
DRN1-Bx-x NEMA 1 Procedure A Kit INSTall ......ccceiieiiiiiiiiieeeseesese ettt 4
DRN1-Bx-x NEMA 1 Procedure B Kit INStall........cceeiiiiiiiiiiiieieseeese ettt s 7
DRN1-C1-5 NEMA 1 Kit INSTAIl..ccuiiiniieiieieeee ettt sttt s st e s 11
DRNI1-C1-6 NEMA 1 Kit INSTAll.cccueriiiiiiieeeeiiee ettt sttt e et e e e st e e s s sbe e e s s abe e e s snneeesenarenas 14
DRN1-C1-7/8 NEMA 1 Kit INSEAIl c.eecuriireeieeitieiie ettt ettt ettt ettt s av e eab e et e e beesteesavesabeebeebaeens 18
DRN1-C1-9 NEMA 1 Kit INSTAIl..ccniiniieieeeeeet ettt sttt b e st s e s be e s 22
TaE =T Y= d VT B o YU SP 26
VY SE Lo Lo IV T oY PSP 28
LIMIV52 WITINE «eeetiietiieieeeiitt et e e ettt et e e s e sttt e e et s s s s bbb a e e e e e e s s asbeaaaeeessasssbeaaaaeeessaassssenaaeeesssnnnssseneaeens 32
LIMIVB WWITINE ittt ettt ettt et e e e sttt e e et e s e sttt e e e e e s s e aaa b e e e e e e e s s e sssbeaaaeeeessassssaaaaeeesssnnsssrenaaees 34
TEIMINAIS ...ttt b e s b e sb et sa e e et e et e e sb e e sb e e saeeeabeea b e et e e b e e beeeneeeneeeateenrean 36
BT oYV ol =TSP 38
o 1= 10 0= (= PP OPPTTP 39
2T T = U o 11 PP 40
Appendix A: Navigating the Parameters Using the Keypad..........cooecuiieieciiiic e 43
Appendix B: DR...B (GA500) Control CircUit WiIFING ......cccccuiiiieiiiieecciiee ettt ecttee e et e e esare e e e tree e seaaaeeeas 46
Appendix C: DR...C (GA800) Control CircUit WIrNEG ......cccccuiieeeciiieeccieee ettt e ettt e et e e e eare e e e ar e e e seaaaeeeas 47

Page 2 SCCInc.



DR Series Installation Instructions
Document No. DR-1100

Recommended Installation Tools

The following tools are recommended for installing the drives:

e Drill

e Drill bit (See DR-1000 for mounting dimensions)

e #2 Phillips screwdriver

e Flathead screwdriver (Sizes Required: 3mm, 6mm)
e Pencil

e Wire strippers

e Wire cutters

e Wire crimpers

e Hacksaw (for Conduit)

e Masking Tape

e Round File

e %" or %” Drive Metric Socket Set (larger drives use up to 17mm)

Recommended Installation Consumables
e Conduit and conduit fittings (2", 3%”, 1”, or larger size depending on wire size)
e Wires (See Table 2 for wire gauge recommendation)
e Mounting Fasteners
e Crimp-on fittings (optional)

Mounting Notes

Installation Inside an Electrical Enclosure

When installing a drive in an electrical enclosure, mount the drive vertically. A DR-...B can be
mounted horizontally but requires an external fan mounted in the panel to ensure sufficient
airflow to the drive.

Stand-Alone Installation:

When installing a drive stand-alone (not in an electrical enclosure) the drive must be installed
vertically and typically a NEMA 1 kit is required by local electrical codes. The NEMA 1 kit allows
the installer to attach conduit directly to the drive. See Document DR-1000 for a complete
listing of NEMA 1 kit part numbers.

The NEMA 1 kits vary in size between drives and come in different variations. Installation
instructions are below for all configurations.

SCCInc. Page 3



Installation Instructions DR Series
Document No. DR-1100

DRN1-Bx-x NEMA 1 Procedure A Kit Install

Compatible with DR...B (GA500) drives under 10HP:

DR-240F16-1B, DR-240F14-1B, DR-240F34-1B, DR-240001-1B, DR-240002-1B, DR-240003-1B, DR-240005-1B, DR-
240F16-3B, DR-240F14-3B, DR-240F34-3B, DR-240001-3B, DR-240002-3B, DR-240003-3B, DR-240005-3B, DR-
240007-3B, DR-480F12-3B, DR-480001-3B, DR-480002-3B, DR-480003-3B, DR-480005-3B, DR-480007-3B

Components Supplied
Figure 1 shows the components supplied with the DRN1-Bx-x NEMA 1 kit:

Figure 1: Pieces Supplied with the Procedure A DRN1-Bx-x NEMA 1 Kit

1. Base 4. (2) Pan head screws
2. Front cover 5. (2) C-washers
3. Top cover 6. M4 x 10 mounting truss head screw

Installation

1. Toinstall the top cover, insert the hooks on the rear side of the top cover into the drive
placement holes as shown below. Then push the top cover into place.

A - Hook C - Drive front side

B - Rear side of top protective D - Placement holes
cover

Figure 2: Installing the Top Cover (Procedure A DRN1-Bx-x)

Page 4 SCCInc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-Bx-x NEMA 1 Procedure A Kit Install (continued)

2. Remove the knock-out holes on the base before installing. This can be done by putting
the end of a flathead screwdriver into the center hole and moving up and down. Then

file the rough surface to smooth the edges.
)

3

Figure 3: Removing Knock-Out Holes (Procedure A DRN1-Bx-x)

3. Remove the drive ground terminal screws

A - Screws

Figure 4: Removing Ground Terminal Screws (Procedure A DRN1-Bx-x)

4. Align the base holes with the ground screw holes on the drive. Using the supplied
screws, tighten the screws.

o 5 |

|
|

A - ULType 1 base B - Screw holes

Figure 5: Installing the Base (Procedure A DRN1-Bx-x)

SCCInc. Page 5



Installation Instructions

DR Series
Document No. DR-1100

DRN1-Bx-x NEMA 1 Procedure A Kit Install (continued)

5. Using the (2) C-Washers and pan head screws, connect one or two ground wires to the
base.

A - Ground terminal screw C - C-Washer
B - Grounding wire

Figure 6: Ground Wiring and Screws (Procedure A DRN1-Bx-x)

6. The front cover will slide over the front face of the base and lock into place with the
mounting truss head screw. For higher horsepower drives, the cover may have hooks
that clip into the drive. If so, refer to the second image below. Insert the clips into the
positions shown, then slide down to lock into place and install the mounting truss head

A - Hook

D - Front cover
B - Rearside of the frontcover E- M4 x 10 truss head screw
M4 x 10 truss head screw G- Placement holes

A - Front cover B-

Figure 7: Installing the Front Cover (Procedure A DRN1-Bx-x)

Page 6 SCCInc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-Bx-x NEMA 1 Procedure B Kit Install

Compatible with DR...B (GA500) drives 10HP and over:
DR-240015-3B, DR-240020-3B, DR-240025-3B, DR-240030-3B, DR-480010-3B, DR-480015-3B, DR-480020-3B, DR-
480025-3B, DR-480030-3B, DR-480040-3B

Components Supplied
Figure 1 shows the components supplied with the DRN1-Bx-x NEMA 1 kit:

Figure 8: Pieces Supplied with the Procedure B DRN1-Bx-x NEMA 1 Kit

1. Base 4. (2) Pan head screws
2. Front cover 5. (2) Mounting Screw
3. Top cover

Installation

1. Toinstall the top cover, insert the hooks on the rear side of the top cover into the drive
placement holes as shown below. The top cover has a single arrow to point towards the
front of the drive.

A - Hooks A D - Drive front side
B - Hooks B E - Top protective cover
C - Back side of top protective F - Placement holes

cover

Figure 9: Installing the Top Cover (Procedure B DRN1-Bx-x)

SCCInc. Page7



Installation Instructions DR Series
Document No. DR-1100

DRN1-Bx-x NEMA 1 Procedure B Kit Install (continued)

2. Remove the knock-out holes on the base before installing. This can be done by putting
the end of a flathead screwdriver into the center hole and moving up and down. Then
file the rough surface to smooth the edges.

Figure 10: Removing Knock-Out Holes (Procedure B DRN1-Bx-x)

3. Remove the drive ground terminal screws

A - Screws

Figure 11: Removing Ground Terminal Screws (Procedure B DRN1-Bx-x)

4. Align the base holes with the ground screw holes on the drive. Using the supplied
screws, tighten the screws.

Page 8 SCCInc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-Bx-x NEMA 1 Procedure B Kit Install (continued)

A - ULType 1 base B - Screw holes

Figure 12: Installing the Base (Procedure B DRN1-Bx-x)

5. Using the (2) C-Washers and pan head screws, connect one or two ground wires to the
base.

A - Ground terminal screw C - C-Washer
B - Grounding wire

Figure 13: Ground Wiring and Screws (Procedure B DRN1-Bx-x)

SCCInc. Page 9



Installation Instructions

DR Series
Document No. DR-1100

DRN1-Bx-x NEMA 1 Procedure B Kit Install (continued)

6. The front cover will slide over the front face of the base and lock into place with the
mounting truss head screw. For higher horsepower drives, the cover may have hooks
that clip into the drive. If so, refer to the second image below. Insert the clips into the

positions shown, then slide down to lock into place and install the mounting truss head
screw.

OR

A - Hook

D - Frontcover

B - Rear side of the front cover E- M4 x 10 truss head screw
A - Front cover B - M4 x 10 truss head screw C- Placement holes

Figure 14: Installing the Front Cover (Procedure B DRN1-Bx-x)

Page 10 SCCInc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-C1-5 NEMA 1 Kit Install

Compatible with the following DR...C (GA800) drives:
DR-240040-3C (40HP 240V drive), DR-480050-3C (50HP 480V drive)

Components Supplied
Figure 8 shows the components supplied with the DRN1-C1-5 NEMA 1 kit:

6. 7. % 8. %
Figure 15: Pieces Supplied with the DRN1-C1-5 NEMA 1 Kit

1. Base

2. Front cover

3. Top protective cover
4. Conduit bracket

. (2) M4 x 10mm truss head screws
. (8) M4 x 10mm pan head screws
. (4) M5 x 14mm pan head screws
. (2) M6 x 14mm pan head screws

00 N o U»n

Installation

1. Remove the knock-out holes that will be used on the conduit bracket before installing.
This can be done by putting the end of a flathead screwdriver into the center hole and
moving up and down. Then file the rough surface to smooth the edges.

Figure 16: Removing Knock-Out Holes (DRN1-C1-5)

SCCInc. Page 11



Installation Instructions DR Series
Document No. DR-1100

DRN1-C1-5 NEMA 1 Kit Install (continued)

2. |Install the top protective cover by snapping into place as shown. The arrow should point
towards the front of the drive.

A - Back hooks D - Drive front side
B - Fronthooks E- Mark
C - Back side of top protective cover F - Temporary placement holes

Figure 17: Installing the Top Cover (DRN1-C1-5)

3. Mount the base to the drive as shown below.

A - M5 x 14 pan head screws C - M4 x 10 pan head screws
B - M6 x 14 pan head screws D- Base

Figure 18: Installing the Base (DRN1-C1-5)

Page 12 SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-C1-5 NEMA 1 Kit Install (continued)

4. |nstall the conduit bracket to the base.

A - Conduit bracket B - M4 x 10 pan head screws

Figure 19: Install the Conduit Bracket (DRN1-C1-5)

5. Install the front cover.

A - Frontcover B - M4 x 10 truss head screws

Figure 20: Install the Front Cover (DRN1-C1-5)

SCCInc. Page 13



Installation Instructions DR Series
Document No. DR-1100

DRN1-C1-6 NEMA 1 Kit Install

Compatible with the following DR...C (GA800) drives:
DR-240050-3C (50HP 240V drive), DR-480060-3C (60HP 480V drive), DR-480075-3C (75HP 480V drive)

Components Supplied
Figure 14 shows the components supplied with the DRN1-C1-6 NEMA 1 kit:

Figure 21: Pieces Supplied with the DRN1-C1-6 NEMA 1 Kit

1. Base 6. (4) M4 x 10mm truss head screws
2. Front cover 7. (16) M4 x 8mm pan head screws
3. Top protective cover 8. (2) M6 x 14mm pan head screws
4. Conduit bracket 9. (4) M6 x 16mm upset head bolts

5. (2) stay brackets

Installation

1. Remove the knock-out holes that will be used on the conduit bracket before installing.
This can be done by putting the end of a flathead screwdriver into the center hole and
moving up and down. Then file the rough surface to smooth the edges.

Figure 22: Removing Knock-Out Holes (DRN1-C1-6)

Page 14 SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-C1-6 NEMA 1 Kit Install (continued)

2. Install the top protective cover by putting the hooks into the hook holes on the top of
the drive and slide forward to align screw holes. Tighten screws to install.

A - Hooks C - Placement holes
B - Underside of top protective cover D - M4 x 8 pan head screws

Figure 23: Installing the Top Cover (DRN1-C1-6)

3. Install the (s) stay brackets to the drive as shown below.

A - Stay brackets B - M4 x 8 pan head screws

Figure 24: Installing the Stay Bracket (DRN1-C1-6)

SCCInc. Page 15



DR Series

Installation Instructions
Document No. DR-1100

DRN1-C1-6 NEMA 1 Kit Install (continued)

Install the base to the stay brackets.

4.

A/e )

m
\

i,

> T
\m\\\\\\\\\\\\\\\

[ S

B - Base

A - M4 x 8 pan head screws

Figure 25: Install the Base to the Stay Brackets (DRN1-C1-6)

5. Secure the base to the drive.

M6 x 14 pan head screws

M6 x 16 upset head bolts

A-

Figure 26: Securing Base (DRN1-C1-6)

SCC Inc.

Page 16



DR Series Installation Instructions
Document No. DR-1100

DRN1-C1-6 NEMA 1 Kit Install (continued)

6. Install the conduit bracket.

A - Conduit bracket B - M4 x 8 pan head screws

Figure 27: Install the Conduit Bracket (DRN1-C1-6)

7. Install the front cover.

A - Front cover B - M4 x 10 truss head screws

Figure 28: Install the Front Cover (DRN1-C1-6)

SCCInc. Page 17



Installation Instructions DR Series
Document No. DR-1100

DRN1-C1-7/8 NEMA 1 Kit Install

Compatible with the following DR...C (GA800) drives:
DR-240060-3C (60HP 240V drive), DR-240075-3C (75HP 240V drive), DR-480100-3C (100HP 480V drive),
DR-480125-3C (125HP 480V drive)

Components Supplied
Figure 22 shows the components supplied with the DRN1-C1-7/8 NEMA 1 kit:

8. 9. 10.
5 9 e

Figure 29: Pieces Supplied with the DRN1-C1-7/8 NEMA 1 Kit

1. Base 6. (4-6) M4 x 10mm truss head screws
2. Front cover 7.(16-18) M4 x 8mm pan head screws
3. Top protective cover 8. (4) M6 x 16mm upset head bolts

4. Conduit bracket 9. (2) M8 x 16mm hex bolts

5. (2) stay brackets 10. (2) M8 plain washers

Installation

1. Remove the knock-out holes that will be used on the conduit bracket before installing.
This can be done by putting the end of a flathead screwdriver into the center hole and
moving up and down. Then file the rough surface to smooth the edges.

Figure 30: Removing Knock-Out Holes (DRN1-C1-7/8)

Page 18 SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-C1-7/8 NEMA 1 Kit Install (continued)

2. Install the top protective cover by putting the hooks into the hook holes on the top of
the drive and slide forward to align screw holes. Tighten screws to install.

A - Hooks C - Placement holes
B - Underside of top protective cover D - M4 x 8 pan head screws

Figure 31: Installing the Top Cover (DRN1-C1-7/8)

3. Install the (2) stay brackets to the drive as shown below.

A - Stay brackets B - M4 x 8 pan head screws

Figure 32: Installing the Conduit Bracket (DRN1-C1-7/8)

SCCInc. Page 19



Installation Instructions DR Series
Document No. DR-1100

DRN1-C1-7/8 NEMA 1 Kit Install (continued)

4. Install the base on the stay brackets.
- DRN1-C1-7 will use 4 screws
- DRN1-C1-8 will use 6 screws

Q\)

/////////////// /
I

A - M4 x 8 pan head screws B - Base

Figure 33: Install the Base to the Drive (DRN1-C1-7/8)

5. Secure the base to the drive.

A - M6 x 16 upset head bolts C - M8 plain washers
B - M8 x 16 hex bolts D- Base

Figure 34: Securing Base (DRN1-C1-7/8)

Page 20 SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-C1-7/8 NEMA 1 Kit Install (continued)

6. Install the conduit bracket.

A - Conduit bracket B - M4 x 8 pan head screws

Figure 35: Install the Conduit Bracket (DRN1-C1-7/8)

7. Install the front cover.
- DRN1-C1-7 will use 4 screws
- DRN1-C1-8 will use 6 screws

A - Front cover B - M4 x 10 truss head screws

Figure 36: Install the Front Cover (DRN1-C1-7/8)

SCCInc. Page 21



Installation Instructions DR Series
Document No. DR-1100

DRN1-C1-9 NEMA 1 Kit Install

Compatible with the following DR...C (GA800) drives:
DR-240100-3C (100HP 240V drive), DR-480150-3C (150HP 480V drive), DR-480200-3C (200HP 480V drive)

Components Supplied
Figure 30 shows the components supplied with the DRN1-C1-9 NEMA 1 kit:

10.
Figure 37: Pieces Supplied with the DRN1-C1-9 NEMA 1 Kit
1. Base 6. (4) M4 x 10mm truss head screws
2. Front cover 7.(11) M4 x 10mm pan head screws
3. Top protective cover 8. (16) M5 x 12mm pan head screws
4. Conduit bracket 9. (2) M10 x 20mm hex bolts
5. (2) stay brackets 10. (2) M10 plain washers

Installation

1. Remove the knock-out holes that will be used on the conduit bracket before installing.
This can be done by putting the end of a flathead screwdriver into the center hole and
moving up and down. Then file the rough surface to smooth the edges.

Figure 38: Removing Knock-Out Holes (DRN1-C1-9)

Page 22 SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-C1-9 NEMA 1 Kit Install (continued)

2. Install the top protective cover by putting the hooks into the hook holes on the top of
the drive and slide forward to align screw holes. Tighten screws to install.

A - M10 x 20 hex bolts */ C - M10 plain washers
B - M4 x 10 pan head screws

Figure 39: Installing the Top Cover (DRN1-C1-9)

3. Install the (2) stay brackets to the drive as shown below.

A - Stay brackets B - M5 x 12 pan head screws

Figure 40: Installing the Stay Brackets (DRN1-C1-9)

SCCInc. Page 23



Installation Instructions DR Series
Document No. DR-1100

DRN1-C1-9 NEMA 1 Kit Install (continued)

4. Install the base to the stay brackets.

A - M5 x 12 pan head screws B - Base

Figure 41: Install the Base to the Stay Brackets (DRN1-C1-9)

5. Secure the base to the drive.

A - M5 x 12 pan head screws B - 1P20 cover

Figure 42: Securing Base (DRN1-C1-9)

Page 24 SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

DRN1-C1-9 NEMA 1 Kit Install (continued)

6. Install the conduit bracket.

A - Conduit bracket B - M4 x 10 pan head screws

Figure 43: Install the Conduit Bracket (DRN1-C1-9)

7. Install the front cover.

A - Front cover B - M4 x 10 truss head screws

Figure 44: Install the Front Cover (DRN1-C1-9)

SCCInc. Page 25



Installation Instructions
Document No. DR-1100

DR Series

Installing the Drive

A template is provided with each drive to mark the location of the mounting holes. Using a level

and masking tape, position the template and fasten the template to the surface where the

drive will be installed. Mark the four mounting hole locations through the template with a

center punch. Drill pilot holes if necessary. See below for an example of the template provided.

@55 mm (0.22in)

& 1 §mm (024

I )

- 102 mm (4.02 )

248 mm (9.78 in)

4 - Nemiizm

f empm (B
i LIT —
(075 in)

102 mm (4.02 in)

! \ =“ 6mm (024in)

-
83mm(032m)] .

211 8mm

-

(U0 92 01) i 092

19 mm
(075 in}

o/ 1

YASKAWA turing Tervisie TOEPCT1081741
Pugished in USA

Figure 45: Example of a Template for Mounting

Figure 46: Drilling Pilot Holes

Page 26

SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

Installing the Drive (continued)

For drives 10hp and under, screw the drive directly to the surface. Anchor the screws depending on the
surface material. Dimensions for mounting holes can be found in technical literature DR-1000.

Figure 47: Mounting the Drive (10hp and under)

On drives over 10hp, thread screws till the heads are roughly %4” away from the surface. Place the drive
on the screws and slide the drive into the locked position. Then tighten the screws to securely mount
the drive.

Figure 48: Mounting the Drive (over 10hp)

SCCInc. Page 27



Installation Instructions DR Series
Document No. DR-1100

Fuses and Wiring

To access the terminals on the DR-...B (GA500) drives, first remove the NEMA 1 kit cover. Next,
the low voltage terminals can be accessed by sliding the tab located above the NEMA 1 kit to
the unlock position. Pull down on the cover, then pull away to remove.

Figure 49: Accessing DR-...B (GA500) Wiring

To access the wiring on the DR-...C (GA800) drives, first remove the keypad by pushing down
the tab on the top of the keypad and pulling the keypad forward. Next pull the keypad
connector out from the drive horizontally and put it in the holder. Unscrew the screw holding
the front cover and remove the wiring cover.

Figure 50: Accessing DR-...C (GA800) Wiring

See Tables 1 and 2 for a complete listing of recommended wire gauges and fuse sizes.

Page 28 SCC Inc.



DR Series

Installation Instructions
Document No. DR-1100

Fuses and Wiring (continued)

Table 1: Suggested Wire Gauge and Fuses for DR-240... (Single and Three Phase 240V Drives)

. Class CC, J,
. Incoming Power
Drive R/L1, S/L2, U/T1,V/T2, or T Fuse
Model - - +1 +2 +3 B1, B2 Bussmann )
Horsepower T/L3 W/T3 i Maximum
Semiconductor Fuse i
Size (Amps)
Single Phase
14 14 14 14 14
DR-240F16-1B 1/6 FWH-25A14F 2
(14) (14) (14) (14) (14)
14 14 14 14 14
DR-240F14-1B 1/4 FWH-25A14F 3.5
(14) (14) (14) (14) (14)
14 14 14 14 14
DR-240F34-1B 3/4 FWH-60B 9
(14) (14) (14) (14) (14)
14-10 14-12 14-10 14-12 14-10
DR-240001-1B 1 N/A FWH-80B 15
(12) (14) (12) (14) (10)
12-10 14-12 12-10 14-12 14-10
DR-240002-1B 2 FWH-100B 20
(10) (14) (10) (14) (10)
14-6 14-10 14-6 14-12 14-10
DR-240003-1B 3 FWH-125B 30
(8) (12) (8) (14) (10)
12-6 14-8 12-6 14-12 12-8
DR-240005-1B 5 FWH-150B 40
(8) (10) (8) (14) (8)
Three Phase
14 14 14 14 14
DR-240F16-3B 1/6 FWH-25A14F 3
(14) (14) (14) (14) (14)
14 14 14 14 14
DR-240F14-3B 1/4 FWH-25A14F 3.5
(14) (14) (14) (14) (14)
14 14 14 14 14
DR-240F34-3B 3/4 FWH-25A14F 6
(14) (14) (14) (14) (14)
14 14 14 14 14
DR-240001-3B 1 FWH-25A14F 10
(14) (14) (14) (14) (14)
14-12 14-12 14-10 14-12 14-10
DR-240002-3B 2 FWH-70B 15
(14) (14) (12) (14) (10)
14-12 14-12 14-10 14-12 14-10
DR-240003-3B 3 FWH-70B 15
(14) (14) (12) (14) (10)
14-6 14-8 14-6 14-10 14-8
DR-240005-3B 5 FWH-90B 35
(8) (10) (8) (14) (8)
14-6 14-8 14-6 14-10 14-8
DR-240007-3B 7 N/A FWH-90B 35
(8) (10) (8) (14) (8)
12-6 12-6 12-6 12-8 10-6
DR-240010-3B 10 FWH-100B 50
(8) (8) (6) (12) (8)
12-6 12-6 10-2 14-6 10-6
DR-240015-3B 15 FWH-150B 70
(6) (6) (4) (10) (6)
10-2 10-2 8-2 12-6 8-4
DR-240020-3B 20 FWH-200B 90
(4) (4) (2) (8) (6)
6-1 8-1 6-1/0 12-6 6-4
DR-240025-3B 25 FWH-200B 110
(2) (2) (1) (8) (4)
6-1/0 6-1 2-2/0 10-6 6-4
DR-240030-3B 30 FWH-225A 125
(1) (2) (2/0) (6) (4)
6-1/0 6-1/0 2-2/0 10-4 6-4 FWH-225A
DR-240040-3C 40 175
(1/0) (1/0) (2/0) (@) (6) or FWH-250A
2-2/0 2-2/0 2-4/0 10-3 4 FWH-275A
DR-240050-3C 50 225
(2/0) (2/0) (4/0) 3) (@) or FWH-300A
2/0-250 3/0-300 1/0-2/0 1-2/0 4-1/0 FWH-275A
DR-240060-3C 60 N/A 250
(4/0) (4/0) (1) (1/0) (4) or FWH-300A
2/0-250 3/0-300 1/0-2/0 1-2/0 4-1/0 FWH-325A
DR-240075-3C 75 N/A 350
(250) (300) (2/0) (2/0) (@) or FWH-450A
2/0-4/0x 2P 2/0-4/0x 2P 4/0-250x 2P 1/0x 2P 3-350
DR-240100-3C 100 FWH-600A 400
(2/0x2P) (2/0x2P) (4/0x 2P) (1/0 x 2P) 3)

Note: Recommended wire gauge shown in parentheses.

SCC Inc.

Page 29




Installation Instructions
Document No. DR-1100

DR Series

Fuses and Wiring (continued)

Table 2: Suggested Wire Gauge and Fuses for DR-480... (480V Three Phase Drives)

Incoming Power Class CC, J,
Drive R/L1,S/L2, U/T1,V/T2, Bussmann or T Fuse
Model - +1 +2 +3 B1, B2 B .
Horsepower T/L3 W/T3 Semiconductor Maximum
Fuse Size (Amps)
Three Phase
14-12 14-12 14-12 14-12 14-10
DR-480F12-3B 1/2 FWH-40B 3
(14) (14) (14) (14) (14)
14-12 14-12 14-12 14-12 14-10
DR-480001-3B 1 FWH-40B 3.5
(14) (14) (14) (14) (14)
14-12 14-12 14-12 14-12 14-10
DR-480002-3B 2 FWH-50B 7
(14) (14) (14) (14) (10)
14-12 14-12 14-12 14-12 14-10
DR-480003-3B 3 FWH-70B 9
(14) (14) (14) (14) (10)
14-12 14-12 14-12 14-12 14-10
DR-480005-3B 5 FWH-70B 15
(14) (14) (14) (14) (10)
14-10 14-12 12-8 14-12 14-10
DR-480007-3B 7 FWH-90B 20
(12) (14) (10) (14) (10)
12-8 12-8 14-8 14-12 14-6
DR-480010-3B 10 FWH-80B 30
(10) (10) (10) (14) (10)
14-6 14-8 12-6 14-10 10-6
DR-480015-3B 15 N/A FWH-100B 40
(8) (10) (8) (12) (10)
12-6 12-6 12-4 12-8 10-6
DR-480020-3B 20 FWH-125B 50
(8) (8) (6) (10) (8)
12-6 12-6 10-2 14-6 10-6
DR-480025-3B 25 FWH-175B 60
(8) (8) (4) (10) (6)
10-2 12-4 8-2 12-6 10-6
DR-480030-3B 30 FWH-200B 70
(4) (6) (2) (8) (6)
8-2 10-2 6-2 12-6 10-6
DR-480040-3B 40 FWH-200B 100
(2) (4) (2) (8) (6)
10-2 10-2 10-2 14-6 6-4
DR-480050-3C 50 FWH-250A 125
(2) (2) (2) (6) (6)
10-2 10-2 6-1/0 14-6 6-4 FWH-250A or
DR-480060-3C 60 150
(2) (2) (1/0) (6) (4) FWH-275A
2-2/0 2-2/0 2-4/0 10-3 6-4 FWH-250A or
DR-480075-3C 75 175
(1/0) (1) (2/0) (3) (4) FWH-275A
2/0-250 3/0-300 1/0-2/0 1/0-2/0 4-1/0
DR-480100-3C 100 N/A FWH-300A 225
(3/0) (2/0) (2) (2) (4)
2/0-250 3/0-300 1/0-2/0 1/0-2/0 4-1/0 FWH-325A or
DR-480125-3C 125 250
(a/0) (a/0) (1/0) (1/0) N/A (4) FWH-400A
2/0-4/0x 2P 2/0-4/0x 2P 4/0-250x 2P 1/0x 2P 4-350
DR-480150-3C 150 FWH-500A 350
(1/0 x 2P) (1/0 x 2P) (3/0x 2P) (1/0 x 2P) (4)
2/0-4/0x 2P 2/0-4/0x 2P 4/0-250x 2P 1/0x 2P 2-350
DR-480200-3C 200 FWH-600A 400
(2/0 x 2P) (2/0x 2P) (3/0x 2P) (1/0 x 2P) (2)
Note: Recommended wire gauge shown in parentheses.
Page 30 SCC Inc.




DR Series Installation Instructions
Document No. DR-1100

Fuses and Wiring (continued)

Install the motor wiring and power wiring. For three phase power input use terminals R/L1,
S/L2, and T/L3. For single phase power input use L/L1 and N/L2 (not shown in figure 51).

000|000 0000

RIL1T  &L2 T3 W1 W2 W3

&) [ @ [&)

E— T
(s
D
A - DC bus terminal D - Three-Phase Motor
B - Connect to the drive ground E - Use terminals R/L1, §/L2, and T/L3
terminal. for three-phase power supply input.

Use terminals L/L1 and N/L2 for
single-phase power supply input.

F - Input Protection (Fuses or Circuit
Breakers)

C - Ground the motor case.

Figure 51: Example Main Circuit and Motor Connections

Main Circuit and Motor Connection Notes:
e If the motor turns the wrong direction, swap any two output wires such as U/T1 and
V/T2 and the motor will turn the opposite direction.
e [f input power is applied to T1, T2, and T3 severe drive damage will occur.

SCCInc. Page 31



Installation Instructions DR Series
Document No. DR-1100

LMV52 Wiring

Note: A speed sensor must be installed on the motor to use a LMV52. Please see installation
instructions LMV-3050 for more details on mounting an AGG5.305 speed sensor kit.

Speed Wheel
Motor /
N/ A LMV52
— SSE:::r /%—D X70.1  Sensor Power
Line Reactor ~
e ol T;l EZ .!;3 N = Black ) {7) X70.2  Pulse Input
by o2 ‘T—— - " Blue f+—() X703  Reference GND
GND =
— eyt L g3 \
) X70.5  FE (Shield)
T1 0 v
T2 ¢ Y Y Y Y m—@ X3.04.3 Ground
T3¢ VY Y YY) -
Load Reactor
Braking Resistor
B10O O ‘
20 SEAvAveS
s30 S -
- C
SN T) X73.1
I
SC o Install :1: RUN/STOP
P o Jumper i DRY CONTACT
|
iy
51 C ) X73.2
A2 C r"\ ) X73.4  4-20mA (+)
AC o () X735 4-20mA()
fe —(7) X73.6 FE (Shield)
Ground lj oD 'd

Figure 52: LMV52 Wiring to DR-...B (GA500) OR DR-...C (GA800) Drives

Page 32 SCC Inc.



DR Series Installation Instructions

Document No. DR-1100

LMV52 Wiring (continued)

LMV52

Wiring Notes:

Check the resistances between the ground terminals on the LMV5, drive, and the motor.
Resistance must not exceed 20 ohms

4-20mA wiring and speed sensor cabling must be shielded cable

Line reactors, load reactors, and braking resistors are optional. Refer to the Drive
Technical Instructions (DR-1000) for more information.

If only using single phase input power, do not wire L3

See page 40 if using a braking unit with the braking resistor

SCC Inc.

Page 33



Installation Instructions DR Series
Document No. DR-1100

LMV3 Wiring

Note: Most LMV3 applications require a speed sensor installed. Please see installation
instructions LMV-3050 for more details on mounting an AGG5.305 speed sensor Kkit.

Speed Wheel
Motor LMV3
Line Reactor i Speed Brown —® X74.5 Sensor Power
If Used Sensor
e nTs Black | ) x744  Pulse Input
O L1 f ( :
Blue
X74.2  Reference GND
O
L2 GNDJ:— /®
GND —[f
T10 Y Y Y Y
T2 0 AAAAARAS Gﬁ—® X3.04.3 Ground
ND
T3 o VYT T Y Y
Load Reactor
Braking Resistor () X3.05.1 Blower Motor
7 Starter
Blo
B20C @
=]
0
) X6.03.2 Neutral
SN
s1 o—ﬁ
CR1-A
O
(G|
SC O Install 24VDC
Jumper
SP o Power Supply )
Min 500mA ) X74.1  24VDCin (+)
N
ACO
Alo [ ) () X74.3  0-10 VDC Signal (+)
Ground O-ﬁ i
= GND =

Figure 53: LMV3 Wiring to DR-...B (GA500) OR DR-...C (GA800) Drives

Page 34 SCC Inc.



DR Series Installation Instructions

Document No. DR-1100

LMV3 Wiring (continued)

LMV3 Wiring Notes:

Check the resistances between the ground terminals on the LMV3, drive, and the motor.
Resistance must not exceed 20 ohms

4-20mA wiring and speed sensor cabling must be shielded cable

Line reactors, load reactors, and braking resistors are optional. Refer to the Drive
Technical Instructions DR-1000 for more information.

If only using single phase input power, do not wire L3

See page 40 if using a braking unit with the braking resistor

SCC Inc.

Page 35



Installation Instructions
Document No. DR-1100

DR Series

Terminals
QL@ N,
RIL1 SI2 TA3 B1 B2 || M1 wiT2  WiT3
Figure 54: Main Circuit and Motor Terminals
Table 3: Main Circuit and Motor Connections
Terminal Description E .
Single Phase Three Phase unction
R/L1
S/L2 - Power Supply
T/L3 Incoming Power Supply Connection
L/L1
P I -
N/L2 ower Supply
U/T1
V/T2 Drive Output Motor Connection
W/T3
B1 . . . . . .
B2 Braking Resistor Connection Braking Resistor Connection
+3
) DC Power Supply Input (+1 and -) Peripheral Device Connections (DC Power
1 DC Reactor Connection (+1 and +2) Input, Braking Unit, DC Link Choke when
Braking Unit Connection (+3 and -) removing jumper between +1 and +2)
Ground Ground 240V: D Class Ground to 100 Ohms or less
480V: C Class Ground to 10 Ohms or less

Page 36

SCC Inc.



DR Series

Installation Instructions
Document No. DR-1100

Terminals (continued)

4 N
PP
- b 'MP RP AC D+ D- P1 C1 P2 C2
FECEEC Eﬂ
e < 560656555
FEEAR el c— LAM AC Al A2 V HI H2 HC
///////// . ﬂﬂﬂﬂﬂﬂﬂﬂ ?
PS S1 S2 S3 S4 S5 SB S7 SN SC SP MC
OODDDDDDDDD| (D)
\ y,

A - Terminal block (TB2)
B - Terminal block (TB1-1)

C - Terminal block (TB1-2)
D - Terminal block (TB1-3)

Figure 55: Multi-Function Input Terminals

Table 4: Commonly Used Input Terminals

Terminal Description Function
SP Input Power Supply +24VDC
SN Neutral
SC Drive Inputs Selection Common
S1 Forward Run Command
S3 External Fault: N/O
AC Common
Al Master Frequency Reference Frequency Reference 1
A2 Frequency Reference 2

SCC Inc.

Page 37



Installation Instructions
Document No. DR-1100

DR Series

Dip Switches

Note: Dip switches will be correct at default positions. All the dip switches are listed here for
verification purposes.

Position Switch Terminal Function Default
A Jumper switch S5 AM Sets the output method for terminal AM (voltage V (voltage output)
or current).
DIP switch S1 A2 Sets the input method for terminal A2 (voltage or I (current input)
current).
B
L Enables and disables the MEMOBUS/Modbus -
DIP switch 52 - communications termination resistor. OFF

Figure 56: DR...B (GA500) Dip Switches

Position Switch Terminal Function Default
i Enables and disables the MEMOBUS/Modbus communications -
A DIP switch 52 termination resistor. OFF
. FM: V (voltage output
B Jumper switch S5 FM, AM Sets terminals FM and AM to voltage or current output. ¢ € put)
AM: V (voltage output)
DIP switch S1-1 Al Sets the input signal type (voltage/current). V (voltage input)
C DIP switch S1-2 A2 Sets the input signal type (voltage/current). I (current input)
DIP switch S1-3 A3 Sets the input signal type (voltage/current). V (voltage input)
D DIP switch S4 A3 Sets MFAL or PTC input. Al (analog input)

Figure 57: DR...C (GA800) Dip Switches

Page 38

SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

Parameters

Note: All drives will come preprogrammed for each application. All parameters below are for setting the
LMV52/LMV3 to work seamlessly with the drive.

Note: LO/REM button should be in REM mode to accept the LMV5/LMV3 signal.

LMV52:
The following parameters MUST be set in the LMV52:
a. OperatRampMod = 30 seconds or greater

b. TimeNoFlame =30 seconds or greater
. ReleaseContactVSD = Open

d. Setpoint Output = 4-20mA

e. Settling Time =16

The LMV52 / drive / blower must also be standardized after installation and wiring are
complete. This is accomplished by setting the following parameters in the LMV52:

a. VSD = activated or air influenced

b. Air Actuator = air influenced

c. Standardization = activated
After “standardization” is set to activated, the air damper should open to the pre-purge
position and the blower should ramp up to maximum speed. See LMV52 Technical
Instructions (LV5-1000) for more details.
NOTE: The LMV52 will not standardize if the safety loop is open.

LMV3:
The following parameters MUST be set in the LMV3:

522 (VSD ramp up time) = 20 seconds or greater

523 (VSD ramp down time) = 20 seconds or greater
542 (activation of VSD) = 1 (activated)

645 (configuration of analog output) = 0 (0 to 10 VDC)

o 0o T o

When a speed sensor is installed, a LMV3 / drive / blower must also be standardized after
installation and wiring are complete. This is accomplished by setting the following parameters
in the LMV3:

641 (activate VSD standardization) = 1 (activated). After “standardization” is set to activated,
the air damper should open to the pre-purge position and the blower should ramp up to
maximum speed. See LMV3 Technical Instructions (LV3-1000) for more details.

SCCInc. Page 39



Installation Instructions DR Series
Document No. DR-1100

Braking Units

Drives listed in table 5 require braking units when using a braking resistor.

Table 5: Drives Requiring Braking Units

Voltage Class Drive Part Number Drive Horsepower
DR-240060-3C 60
200V DR-240075-3C 75
DR-240100-3C 100
DR-480150-3C 150
400v DR-480200-3C 200

For mounting, install the braking unit upright with sufficient space around it for air flow and
wiring. Once mounted, the Voltage Rotary Switch must be set to your field voltage. See figure
59 and table 6 for more information.

A
B
Cc
D
E
A - Braking Activation Voltage F - + and - Main Circuit Terminals (TB3)
Rotary Switch S3
B - Master/Slave Selection DIP G - Control Circuit Terminals (TB1)
Switch S2
C = Control Circuit Terminals H - Fault Relay Enable/Disable DIP Switch S5
(TB2) Note: Available in Rev. B and later.
D - Main Circuit Terminals I = N.O./N.C. DIP Switch S4
(B1, B2)
E - Grounding Terminal J - Sink/Source DIP Switch S1

Figure 58: Braking Unit Terminals

Page 40 SCC Inc.



DR Series

Installation Instructions
Document No. DR-1100

Braking Units (continued)

=]
[ 18t
LO <
X ~ T
L
Default: 9
Figure 59: Voltage Rotary Switch Location
Table 6: Voltage Rotary Switch Settings
200 V Class 400 V Class
Braking Braking
Setting Input Activation Input Activation
Voltage Voltage (V) Voltage Voltage (V)
V) (PN Bus v) (PN'Bus
Voltage) Voltage)
0 160 270 (TYP) 380 630 (TYP)
1 170 282 (TYP) 390 644 (TYP)
2 175 294 (TYP) 400 659 (TYP)
3 185 307 (TYP) 405 673 (TYP)
4 190 319 (TYP) 415 638 (TYP)
5 200 331 (TYP) 425 702 (TYP)
6 208 343 (TYP) 430 717 (TYP)
7 215 356 (TYP) 440 731 (TYP)
8 220 368 (TYP) 450 746 (TYP)
9<r> 230 380 (TYP) 460 760 (TYP)

<[> = Default Setting

SCC Inc.

Page 41



Installation Instructions DR Series
Document No. DR-1100

Braking Units (continued)

Braking Unit

Braking Resistor

+30 O (+) B1O c + +
Drive  (-) ¢ o(-) B2 f’, 4’7

$30 — O
T

SN ©

Figure 60: Braking Unit Wiring for DR-...B (GA500) OR DR-...C (GA800) Drives

Page 42 SCC Inc.



DR Series Installation Instructions
Document No. DR-1100

Appendix A: Navigating the Parameters Using the Keypad

Drive energized
(RUN LED [lluminated)

+
[J]

— 3 = I

— uuu é iyuu

Fraquency
Reference

(A4 +(V)

Forward/Reverse m
Selection

—
)
()
Q
(A4 4(V) =3
nnn 3 =
oy ) <
Oulput Frequency m
(A)¥4[V] o 2
nnn Q)
uvuu m O
Output Current = Qo
— o M
(A 42 V] w
nn L)
uvuu (e )
QOutput Voltage . n
Note: The drive will show the actual setting values in "XX", —
(A H M -
Mon R U 1-01
&

. Monitor Display

</
-
q
Bt
>
>
§
>

Sc
>
]
>
>

(Al L]
(]
F Y e 1.
ur -
Verify Mode E

B =
oy
C
|<| -
Bt
i
>
><
S
>¢
&\E
H-
-
o

| o

[J] o

i - MEIZA— — :

Set Up Mode A tv) & XXXXX 5 3

1t esc

=l E

_i] 3.

PA- [ A 10 | e ' R

pa'a”"{;‘%suumg A) 3 ! V) é XXXXX i 2

(L« [l‘ !-X-XX o

[ &

— T - ' ®
; = J] T

Auto=Tuning

N
>< .vep
</
B
>

>
>
>
>

e
H

pu

Q.

Figure 61: DR...B (GA500) Parameter Paths

SCCInc. Page 43



Installation Instructions DR Series
Document No. DR-1100

Appendix A: Navigating the Parameters Using the Keypad (continued)

A: Initialization d: Reference Settings H: Terminal Functions n: Special Adjustment q: DriveWorksEZ Parameters
A1 | Initialization d1 | Frequency Reference H1 | Digital Inputs n1 | Hunting Prevention r: DriveWorksEZ Connections
A2 | User Parameters d2 | Reference Limits H2 | Digital Outputs n2 | Auto Freg. Regulator (AFR) T: Motor Tuning

b: Application d3 | Jump Frequency H3 | Analog Inputs n3 | High Slip/Overexcite Braking TO | Tuning Mode Selection
b1 | Operation Mode Selection d4 | Freq. Ref. Up/Down & Hold H4 | Analog Outputs n5 | Feed Forward Control T1 | Induction Mator Auto-Tuning
b2 ggolﬂizf:im%::f;gg and d6 | Field Weakening/Forcing H5 | Modbus Communication n6 | Online Tuning T2 | PM Motor Auto-Tuning
b3 | Speed Search d7 | Offset Frequency H6 | Pulse Train Input/Output n7 | EZ Drive T3 | ASR and Inertia Tuning
b4 | Timer Function E: Motor H7 | Virtual Inputs/Outputs n8 | PM Motor Control Tuning T4 | EZ Tuning
b5 | PID Control E1 | V/f Pattern for Mator 1 L: Protection Functions nA | PM Moter Control Tuning U: Monitors
b6 | Dwell Function E2 | Motor 1 Parameters L1 | Motor Protection o: Keypad-Related Settings U1 | Operation Status Monitors
b8 | Energy Saving E3 | v/f Pattern for Mator 2 L2 | Power Loss Ride Through o1 | Keypad Display U2 | Fault Trace

C: Tuning E4 | Motor 2 Parameters L3 | stall Prevention 02 | Keypad Operation U3 | Fault History
C1 | Accel & Decel Time E5 | PM Motor Settings L4 | Speed Detection 03 | Copy Keypad Function U4 | Maintenance Monitors
C2 | S-Curve Characteristics E9 | Motor Setting L5 | Fault Restart 04 | Maintenance Manitors U5 | PID Monitors
C3 | Slip Compensation F: Options L6 | Torque Detection 05 | Log Function U6 | Operation Status Monitors
C4 | Torque Compensation F1 ;:t:fﬁi: Control Fault L7 | Torque Limit U8 | DriveWorksEZ Monitors
c5 ?[l:.l;g)Speed Regulator F6 | Communication Option L8 | Drive Protection
C6 | Duty & Carrier Frequency F7 | Ethemet Options

Figure 62: DR...B (GA500) Parameter Groups

Page 44 SCC Inc.



DR Series

Installation Instructions

Document No. DR-1100

Appendix A: Navigating the Parameters Using the Keypad (continued)

10:00 am FWD Rdy Home 10:00 am FWD Rdy Menu 10:00 am FWD Rdy Monitor
Freq Reference (AI) [=1vonitors » Standard Monitor
E]LD]-_E_____Q _09_ m & Parameters @ Custom Monitor
Output Frequency  User Custom Parameters Bar Graph
u-02 Wz Q _0_0_ — iy parameter Backup/Restore — Analog Gauge
Output Current A— A Modified param / Fault Log S— Trend Plot
Ul-03 A 0 00 m 48 Auto-Tuning

Menu Home | Back Home
HOME l 1 Monitors
Figure 63: DR...C (GA800) Parameter Paths
A: Initialization d: Reference Settings H: Terminal Functions n: Special Adjustment q: DriveWorksEZ Parameters

A1 | Initialization d1 | Frequency Reference H1 | Digital Inputs n1 | Hunting Prevention 1: DriveWorksEZ Connections
A2 | User Parameters d2 | Reference Limits H2 | Digital Outputs n2 | Auto Freq. Regulator (AFR) T: Motor Tuning
b: Application d3 | Jump Frequency H3 | Analog Inputs n3 | High Slip/Overexcite Braking U: Monitors
b1 | Operation Mode Selection d4 | Freq. Ref. Up/Down & Hold H4 | Analog Outputs n4 | AOLV Tuning U1 | Operation Status Monitors
b2 gfﬂlﬂigﬁimggti;%and d5 | Torque Control H5 | Modbus Communication n5 | Feed Forward Control U2 | Fault Trace
b3 | Speed Search dé | Field Weakening/Forcing H6 | Pulse Train Input/Output né | Online Tuning U3 | Fault History
b4 | Timer Function d7 | Offset Frequency H7 | Virtual Inputs/QOutputs n7 | EZ Drive U4 | Maintenance Monitors
b5 | PID Control E: Motor L: Protection Functions n8 | PM Motor Control Tuning U5 | PID Monitors
b6 | Dwell Function E1 | V/f Pattern for Motor 1 L1 | Motor Protection o: Keypad-Related Settings U6 | Operation Status Monitors
b7 | Droop Control E2 | Motor 1 Parameters L2 | Power Loss Ride Through o1 | Keypad Display U8 | DriveWorksEZ Monitors
b8 | Energy Saving E3 | V/f Pattern for Motor 2 L3 | Stall Prevention 02 | Keypad Operation
b9 | Zero Servo E4 | Motor 2 Parameters L4 | Speed Detection 03 | Copy Keypad Function
C: Tuning E5 | PM Motor Settings L5 | Fault Restart o4 | Maintenance Monitors
C1 | Accel & Decel Time E9 | Motor Setting L6 | Torque Detection 05 | Log Function
C2 | S-Curve Characteristics F: Options L7 | Torque Limit
C3 | Slip Compensation F1 | PG Option Setup (Encoder) L8 | Drive Protection
C4 | Torque Compensation F2 | Analog Input Option L9 | Drive Protection 2
C5 | Auto Speed Regulator (CSR) F3 | Digital Input Option
C6 | Duty & Carrier Frequency F4 | Analog Output Option

F5 | Digital Output Option
F6 | Communication Option
F7 | Ethernet Options
Figure 64: DR...C (GA800) Parameter Groups
SCCInc. Page 45




Installation Instructions
Document No. DR-1100

DR Series

Appendix B: DR...B (G

A500) Control Circuit Wiring

" _
) Or Jumper switch S5
Forward RUN/Stop E ‘: 51 D—:@: ' 77 Analog monitor voltage!
[ t selection [V]
Reverse RUN/Stop ! | 52 GUrmen
External Fault i 53 3:@: g mlg
Fault Reset P |sa @ v ||oFF
Mult-Step Speed ="} |
Multi=Function Reference 1 (MalntAw: swich), | [S5 &@ DIF switch 52
Digital Input Multi-Step Speed v Termination resistor
(Default Setting) | |[Reference 2 P s  [[ER] ON/OFF [OFF]
Jog Reference v DIP switch 51
Selection ' S7 ZE A2 voltage/current
i = selection (1)
L L1 SN Option connector
DC 24 V Power supply ! j SC
Output 24 Y, 5F |
Maximum 150 maA +24
E(G)
o 2 Shield ground terminal MA
Pulse train input = RP Master speed reference pulse train - B
i (Maximum 32 kHz) NG
: : +V Frequency selting power supply *a
[ 105V (Maximum 20 mA)
- ol
[P S LA S TR
Frequency Vi [Default setting: Frequency Reference]
Bias o 0= 10 V (Minimum 15 ke2ji=10 - +10 V {Minimum 15 kex)
Freguency i
seting | 4-20mA LA MFAL2 "
pokmele " [Default setting: Adds the Fraquency Referance]
o 0 =10 W (Minimum 15 KEy=10 = +10 V (Minimum 15 k)
i 4 =20 mA (250 Q)0 - 20 mA (250 £2) P1
(Bl
1 JACts
o el - +
278 v
DC 24 V Control o
gﬂe{rc‘?ﬁ {"' PS DC 24 V power supply input
MEMOBUS S B 7T Termination resistor |
RS-485 j L b= |! f}?“.uzo o, 112 W) !
Maximum 115.2 kbps 'y Ac || }' DIP switch S2 #7 i
o7 : !
Safe Disable ! > :
Safety input *g Hi | i
switch posmmsmnnan- : X
: R H2 | <| i
Gpen : LA — e !
=
Safety E
controller 2

LoD

afety Electronic

5
Device Monitor output

HC
SN

Fi

§

Multi=Function Digital Output:
AC 250 WV, Maximum 1 A

DC 30 W, Maximum 1 A
Minimum load DC 5V, 10 mA
(reference valua)

[Default setting: Faulf]

!

Mult=Function Photocoupler Output 1:
DC 48 Y, Maximurm 50 mA
[Dafault satting: During run]

Mult=Function Photocoupler Qutput 2:
DC 48 V, Maximum 50 mA
[Default setting: Frequency (Speed) Agree 1]

!

Pulse train output:
0-32kHz (2 k(2)
[Default setting: Output frequency]

Multi-Function

Analog Monitor Qutput *a *10
0-10Vv/4 -20 mA (250 Q)
[Default setting: Output frequency]

= indicates shielded cable.

2 indicates shielded twisted-pair cable.

igure 65: DR...B (GA500) Control Circuit

(@) indicates main circuit terminal.
O indicates control circuit terminal.

Page 46

SCC Inc.



DR Series

Installation Instructions
Document No. DR-1100

Appendix C: DR...C (GA800) Control Circuit Wiring

Forward RUN/Stop

Drive

*1

1 DIP switch S4
Control Circuit

| A3 analog input/

] / DIP switch $1-3

% = F'TCF

Reverse RUN/Stop

External Fault

o [

,DIP switch S1-1

u

ﬂ PTC input selection [Al]
|/ A3 voltage/current selection [V]
vV E / /DIP switch S1-2
,r A2 voltage/current selection [I]

A1 voltage/current selection [V]

Multi-function analog monitor output 2 *10
-10-+10V/0- 10 V/4 - 20 mA
[Default setting: Output Current]

|Fault Reset . :_:@' /
Multi-Step Speed 1 veo | ‘OFFI— ON |
Multi-function Reference 1 (Main/Aux switch) 1 ! S5 ) — .
digital input Multi-Step Speed " DIP switch §2 EBEN
Default setting | |Reference 2 L 1s6 ﬁ_@ Termination resistor 0
" ON/OFF [OFF] O O
JOG command i RETES — FMAM | ot vy ot
External baseblock ! | S8 _:@: Analog monitor voltage/ ~MB]| ,gg égovv}_n ";ix'11AA
i SN current selection [V] MC| | (min. load DC'5 V, 10 mA)
- T s M1 | MFDO:
Power supply output | . “M2 {AC 250 V, max, 1A
DC 24 V, max. 150 mAi I TN S L /DC 30V, max. 1A
R +24 v *2 (min. load DC 5V, 10 mA)
E (@) [Default setting: During RUN]
I 7,%"77 Shield ground terminal
Pulse train input ) . M3[ | MFDO:
, L RP Master speed reference pulse train e I
| maxs2ic) M B A ey
. +V Frequency setting power supply *3 (min. load DC 5V, 10 mA)
i 10.5V (max. 20 mA) [Default setting: Zero Speed]
DoV L JaT MFAI %
| a [Default setting: Master frequency reference] M5[ | MFDO: AC 250 V, max. 1 A
Frequency / " -10-+10 V (20 kQ)/0 - 10 V (20 kQ) M6 J' DC 30V, max. 1 A
bias 4mAto | b 0- 20 mA (250 Q)/4 - 20 mA (250 0) (min. load DC 5 V, 10 mA)
Frequency| 20 MA | rofie Ao MFAI2 % [Default setting: Speed Agree 1]
sefting ‘l‘ | i [Default setting: Adds the master frequency reference]
polenmele [ -10- +10 V (20 kQ)/0 - 10 V (20 kQ
[ 0- 20 mA (250 0)/4 - 20 mA (250 ()
| "
0-10V | Lp 1t A3 MFAI JPTC input *4
[ " [Default setting: Auxiliary frequency reference] ~=2"MP| Pulse train output:
/] [ L AC*s =10 - +10 V (20 kQ)/0 - 10 V (20 kQ) L@ 1AC 0- 132 kHz (z,zpko)
N LEE - 0-20 mA (250 Q)/4 - 20 mA (250 Q) 7 [Default setting: Output Frequency]
ov oV
24 Vde contr;:-\ . r v Frequency setting power supply, *3 :
powar input *1 *5, V' DC-10.5 V, max, 20 mA i) D
24V, 700mA U PS DC 24 V power supply input g e @ P
A W [ [ v -
MEMOBUS ( f i i it ; ! [ v
RS-485 J / ] D- |! B Termination resistor i [ |+ Multi-function analeg monitor output 1 *10
Max, 115.2 kbps| v T Jac||) [y 4200, 112 W) | C 0| 0= +10VI0- 10 Vi - 20 mA
- + i LI DIP switch S2 ' b | ! [Default setting: Output Frequency)
2 ! NI N i ol
Safety > i ! [ L L SER TR o
switch 1 q | LAC], o) - +:
- | | L A o
! ! oV

Safety
controller | | Safety electronic
| | device monitor output

o] |

== Identifies shielded cable.
-7 Identifies shielded twisted-pair cable.

(©) Identifies main circuit terminal.

~--- Connect to MFDO

() Identifies control circuit terminal.

Figure 66: DR...C (GA800) Control Circuit

Information in this publication is based on current specifications. The company reserves the right to make changes
in specifications and models as design improvements are introduced. Product or company names mentioned
herein may be the trademarks of their respective owners. © 2023 SCC Inc.

SCCinc.

1250 Lunt Avenue

Elk Grove Village, IL 60007
U.S.A.

Your feedback is important to us. If you have
comments about this document, please send them
to techsupport@scccombustion.com

Document No. DR-1100
Country of Origin: US
Page 47



